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33651125/501 wghppnuhght 500ug Qz hun 1500
33651125/502 wghpnnuhght 200uq/54) g2z hun 1 000
33651125/503 mq}‘”“‘“‘gggq‘j;”hm”m?m % | Houn 50
33691724/502 wypklinugn) 400uUg Q2 huin 300
33631410/501 wjnwniphbng 300Ug Qz hun 300
33671125/501 wuppopuny 30uUg Q2 hun 3 000
33671114/501 wihlindhihl 24Ughfy 4 hwwn 100
33671114/502 wilhtindhihl 24UgAly* Qz hunn 10
33671114/504 unlhundhiht 150uq qz hunn 500
33661142/501 wuhwuphwywuhiht 25U Y4 huin 200
33651111/502 wudopuhghihli 500dq Q.2 hwwn 1000
33651111/503 wuopuhghihl 250uUq/51 Q2 hun 300
33651112/501 ‘“‘IOPuhghLbhgzp&l;lnqmmlapm 92 | humn 2 000

wiopuhgh hti+pjuyniyubwppnt
33651112/502 1251q+31 251q/5u] Qz hwn 700
wiopuhgh)hli+prunywbwpent

33651112/503 250uq+62 5uiq/5ul] Q2 hwn 800
33691176/502 | wrwiwnphupnuth 100ug fuy 92 | humn 300

nknnpuyp/

0
33691176/503 | OPmpuwight wyinulphy 0,3% qz huin 50
fuy) nlnpup/

33691176/504 SPiughainl 4ug foyi Qz hurtn 500

nknnpup/
33611350/502 wulnpphiiwupent 50Uq Q.2 hun 3 000
33621420/501 wnnpjuunwinhb 40uUqg Q2 hun 6 000
33621420/502 wwnnpjuuwnwwnhi 20Uq Q2 hwwn 2 000
33631180/501 wpdwph uniyybwughwghb 4 huiin 50
33631180/503 wipswph unybunhwghi* Q2 huin 10
33661121/501 wgkwnhjuwhghpupent 100iUq Q.2 hwin 5 000
33661121/502 wghnhjuw hghyjwppnt 75Uq Sz hun 10 000
33691140/501 wgtuhjghuinkhh 6001g 74 hwwn 2 000
33691140/502 wighwnhjghunkhi 100Ug Q.2 huwin 1000
33661151/502 wghlynyhp 200uq Q2 hwwn 100

pliinugny (pkqugnih

33621440/501 hhnpnpnphn) 1% 210" Qz hwwn 10
33691189/501 pliinwhhuinhh 24q Q2 hun 4 000
33631210/502 phnwdbpwgnt 1dg/q 4 hun 40
33621720/501 rhunwynpniny Sug Qz hwn 5 000




e i A R NI .

phunujpnin +wnnhuhl
33621720/502 Suq+10ug Q2 hwwn 3000
33621720/503 |  FRUmupninL *unlipyfivht qz | hum 3100
10uUq+5ug
qihgkphy Entipwpunn
33621360/502 (thwpnqihgtnht) 0,5uq Q2 huin 100
bhipwkgyuiht*
33661153/503 nbpuwdkpugni 4ughl) Qz hun 70
33661153/504 nhpuwlkpugnt dlghir* Q.2 huwn 10
nhpuuitpuqnt 0,1 %
33661153/505 Qz hwn 50
whiwlwph
0,
33661153/506 nhpuulbpuqnt 01% Q2 hun 10
whlwluphy
33661136/501 nhugbuwy 5uq G2 huwn 8 000
33661136/502 nhwghuud Sug/) Q.2 huwn 200
33621380/501 nhgopuhti 62,5 Uljg Q. hun 2 000
33631310/502 nhlndtitmy 100ug Q2 hwwn 2 000
33631310/503 nhindbuwl 25ug/l] Qz upjuly 400
33631310/504 nhijndtbwly 5% nninnn Q.z huwin 20
nhnuuhb, hkuwytphnht
33691212/501 450Uq+50Uq Qz huin 5000
33671130/502 nhptuhhngpudhi 0,1dghis* Qz hunn 20
33611170/501 npnunwytpht 80uq Q2 huwn 500
kpljup wwpnthwynn
33621210/501 husnlwlgnpmul 50ug/ 11 Q2 hwwn 300
Eplup wupniwyng
33621210/502 heiafiiiitiih 100iq Q2 hwwn 500
bplywph unyun wn +
33621220/501 $njuppnt 80Uq+0,36Ug Q.2 hwwn 300
13601176/506 | PUuphahub pulpnunn 0,1 Q2 hun 50
10043 /wy nlinnpup/
33631250/501 Fpwiling 96%" Q2 1hwnp 50
tphippouhgnyjwEphwibung,
ssezrnalsos | TBRUIEL Bt qz | humn 20
wihwbnijuh join
12.421iq+11.340q+0.881q - 25Up*
33621290/501 mbﬁ@%‘%é‘ﬁgz‘hhmﬂ‘m qz | hum 10
phuninp+pphliqniuthn
33661156/501 whinulphy 6,8ua+10q Qz huwn 200
33661156/502 |FRRnupabiitphuninl 2ig*6.8Uq|  q; | hum 300
wljuluph
33631290/501 hpnuypndli 400ug gz hwwn 2 000
33631290/502 hpmuypndbl 200ugh) Q.2 huwn 800
33621370/501 | hgnunpphnh nhthupwn 10dq Q. huiwn 500
33621767/501 |hqnunpphnh untiniihinpun 40uq Qz hun 500
33611180/502 juljnning 600UgAd} Q.2 huwn 50
33691260/501 jundninphehtt 200udq Q2 huwn 2000
33691600/501 jutiinhpugknwyd 500Uq Qz hunn 3000
33661116/501 1thnnljuht 10dg/Ad” Qz huiwn 100
33661116/502 1hnnljutht 10Ughd] Qz hwwn 200
(ungnww + Jupphynuw
33661133/502 250Uq+251q Q2 hun 3 500
{nqupunnul,
33621769/501 hhnpnpinpnphughn Qz huwn 5 000
100ug+251g
[nquipunwl,
33621769/502 hhnpnpnpnphuiqhn QZ huwn 3000
50ug+12 5uq
[nquipnul (inqupunwth
33691203/504 yaughnu) 100ug Q2 hwwn 3000
33642230/507 Tinphpopupti 50ulq Qz hwwn 4000




"33611200/502

1nybpudhn 2Uq Qz hwwn 100
33611360/501 JunjEhuygh$kpny 15000 Q.2 huwn 1500
33611420/504 [Ywighnulh gynilntwn 100ug/il Qz hwwn 1000
huyghmuuh juppnbwn, 4000
33691231/503 hanqkuqgh$tnn 100Uq+221kq Q2 huwn
YJuwighnuih uppnbwn, 0
33691231/505 hunqklwightpny 500uq+10ulq Qz hun 300
33621510/502 Juwwunnuyphy 50Ug Q2 huin 2 000
33661117/502 Juinyjwhuinunh hwinyy 0,02dq* .z hun 250
33621690/501 Junpytnhin 254Uq Q2 hwwn 3000
Ytsnt julid, pukpndnpd 20
33691728/502 ipindudl 406" Qz hwwn
33631300/501 Yhwnnwnpndkh 50dq Q.2 hwwn 3 000
33631300/502 hhwnnwnndklh 25Ug/) Q2 hwiwn 300
33651129/502 Yuphppnuhghtt 500Uq Q.2 hwwn 500
33691195/501 lnquyhti 100uUg Q.2 huwn 750
33661180/501 I ntimgbupud 21q Q.2 hwwn 800
33621140/501 Linwhnnqnly 75uUq Q2 hwwn 3000
33651148/501 | Ynuniphudwqny 500ug /hpwn Unu/ 74 hwuwn 500
33651148/502 Ynunphuwmgn; 10% puniyy Y4 hun 20
33621580/502 hhnpnpinpnphwghn 50Uq Qz hunn 300
33691111/501 hhnpopuhpinpnpyhi: 200uUq Y4 huwiwn 720
twgqbkghnuth unmyp$un
33691145/502 0. 5ulqhl* Qz hwn 10
33691123/501 Ubkpkliwgn) 500uUq Qz hwn 300
Utwinwidhgn) (Jbwnwdhgnih
33661127/502 twartnphnud) 500Ughl* Qz hun 20
33611160/501 Ubinnlnypuwihny 10dq Q2 hwwn 200
33691112/502 Ubkinpntthnguigny 5001q Gz hwn 1 000
33631100/501 Uhlntugn) 20ug/q Q2 hwin 20
33642250/501 Unbnbymiwuuwn 10dg gz huin 5 000
buwinphnudh phnuny$un
33691144/501 200uqhl; Q2 hun 50
33691133/501 ibkpupldwb onip 4 huwn 500
htippht pigniinfwh
112
33611220/501 srarlkevalyailis b Q2 hwwn 300
33651128/501 thunpndnipwbnnihh 50Uq 92 hwwn 500
33611150/501 wuwllpbwwnhh 400Uq 4 hun 500
33611470/501 wuwlinnupuwgny 20uUg Q.2 huin 3000
33611470/502 wuwlnnupuagny 40iq Q.2 huin 2 000
wwyuytpht (ywwun]iphh
33621540/501 hhnpnpnhn) 2% 24" 4 hwn 10
33661122/505 wwpugknwuny 500dg* Q2 huwn 1 000
33661122/506 | wwpwughnuing 250Ug Anhly/ gz hwwn 500
33621480/501 | FPunwpnIRL*wtphlgnuphy Q2 | hum 3000
5ug+51q
33621480/502 | “Punwpninp*wbphtmnunhy a2 | hun 3100
5ug+10uq
33621480/503 | CPUnwpRLRL*wbphlnnunpy @z | hun 2 000
10uUg+51q
33621460/501 | Ephtmnuph wiinghuhb Q2 huitn 10 000
dlg+1g
wtphtgnyphy + wdjnghwht
33621460/502 Bulq+2,5uiq+10uq Qz hwn 8 000
whphunnyphy wdinnhuhb
33621460/503 8uq+2 Bulq+5uiq 894 hun 15 000
33621530/501 | “EpRunnuinhy hquigualhn az | hum 3000

4g+1,25uq




wbphtinnuph) wpghtiht,

21
33621530/502 hbimugentin Bug+2 Sua Qz hunn 10 000
33691124/501 uhpwinnky 125Ug Qz hwwn 200
33691186/501 whpugbwunl 200dghl Qz huin 300
33691186/502 wyhpugbunwd 400Ug Qz huitn 2 000
33631230/501 wnyhnni jnn 10%* Q2 1hwun 3
33642210/501 wynknithgnint Sig Q. huwiwn 2 000
Mpnluyht (wpnlwghth
T3/ ;
33661170/502 hhnanginphn) 206 /h-26 Qz huwn 60
33621550/501, |  "wdhuiphi + wiinghujhl az | humn 5000
: SUg+5iqg
33621550/502 |  Pwhwipht + winnhught a2 | hum 5100
Sug+10uq
33621550/503 |  Pwbwiphi + winghujht a2 | hum 3000
10Uqg+51q
nunthwphy, hhnpopnpnphwghn
33621560/501 2 5uig+12,5uq Qqz hunn 4000
33671113/501 |uwjpnunuing sbhswndwb 100uq Qz huwn 300
uwdbntinng + dynunhlugni
33691270/502 Rt e Q2 huitn 200
33621410/501 uhtdjwuwnunhb 20Ug Q.z hwiwn 3000
33671137/501 unnlndbpnih wgkunun 100Ug Q2 hun 1 500
unippwdbipopuwmiqny +
33651131/501 wphibpnihd 800vq+ 160dq Qz hun 1600
unippundbpopuwgny +
3S1BIS02 | e ot 2000qedOgsy | 02 | P 700
33611210/502 unybwuwjught 500qg Q2 hwwn 1 500
33621620/502 uuhpnbnjuljnint 50uq Q. huin 7 000
33621110/501 Juipbunhh S5iuqg Q2 huin 5000
33621730/501 Jhpuwwywuhy 40uq Q2 huin 2 000
ghutiynpupunthi 0,5ug/uy
33611341/501 idhe ik Gz hwwn 1000
4 wnwdunnght (nwdunynghbh
33691209/502 Whnmnranadin Dl Qz hun 2 000
33651253/502 inuwidopuhdkh 20q Q7 hun 2 000
33661154/503 nbkunpuljuht 0,5% Q2 hwwn 10
33671124/501 nnpputhght 3ug/l Q2 hun 500
33631380/501 ml“*hpbq‘f;%ﬁ“pnmpm W B 2000
dunn) (npunfwnnih
33691226/503 o R e Q h 2000
hhnpnpinphn) 50ug O B
33691226/ npudwunn] (npudwnnih
6/504 hhnpnpinphn) 100uq/2:f Q.z hwin 500
33691151/502 wnpnwhlundhn 0,5%" az hun 10
33631491/501 gtiinhphght 10uq 4 hwin 1000
ghunnhaht 10UgAL /ukppht
33631491/502 skl Q. huin 50
33651115/501 gkdukpuht 500Uq Q.7 hun 300
33651115/502 ghdu ipuhli 250uq/54) Q.z huwn 70
33651123/501 ghbninmpuhu 250q Q.2 hwin 100
33651118/501 gidunphwupunl 500Uq Q.2 hwn 200
33651118/502 ghdunphwpunt 1q Q.2 huwn 210
33611230/501 ghtiljh uni bun 20Ug Q7 huwiwn 100
33671118/501 ghupndlopuuightt +
g nipumdtpuqni 3udg/u)+1ughip e B g
33651134/501 ghuynndjopumighti 250uUq/54) Q.2 huin 100
33651134/502 ghupn$jopumght 500uUq Q. hwwn 500
33651135/503 pinpuubkithlng 10g* Q.2 hwwn 30




33651135/504

pInpuldkbhlyn)+nhopuhutphpn

i Q2 hunn 31
Ewpwhhypnwhphuhght pundy
33671116/502 P‘*‘m“ﬂbm“gqggi o RO TR EO0E 50
33611100/502 oUkupuign) 20uq Q.2 huin 2000
PlhiEdphts (Phlthitdphtih

33661159/501 hhnpnpinphn) 2,5uAL10u* Q2 hwn 10
33661131/501 SEinpupphunwy 100uUg ¥4 huin 2 000
33651150/502 dyniyntiwgny 150Uq Qz huwn 500
33621590/501 dnipnubivhy 10ug-24;* Qz huwn 10




